AP 55 HisBAE 103 SFEALHBELRRE
#8 TR | Mm% : 55
#Hik: 2 | | % | Az# | =

1. (20 pts) Solve the equations.

a4+ 3y
(2)y' = z?y 3
Jzy—x~—x
'—-—.
(b) y' = 1422

2. (20 pts) Find the general solution of the system

x’(t):(_zl i)x(t)a—(ﬂgt).

3. (20 pts) Find the solution of the equation

{ ¥y’ + 35y — 3y =5lnz,
¥(2)=0, ¥(2) =1

4. (20 pts) Supppose that ¢/ () is continous for € R, Find all solutions of
)+ (¢ —z— Dy —z(e" — 1) = 0.
5. (20 pis) Let
]
¢0(t) = 0’ ¢ﬂ+1(t) = / S¢n{s) d3+ 21 n= 0? 1}21 31 s
, . .

(2) Show that 0 < ¢, (t) <4 for 0 << 1.
(b) Show that lim, ;e ¢u(t) exists for 0 < ¢ < 1.
(c) Find lim, o0 ¢ (t) for 0 < £ < 1.




